B-1125 (1)

DEC

INSTRUCTION SHEET
LF9Z Adjustable Support

Confirm that the delivered product is what you have ordered.
Read this instruction sheet to make sure of correct operation.
Make sure that the instruction sheet is kept by the end user.

| Safety Precautions

In this aperation instruction sheet, safety precautions are categorized in order of impor-
tance to Waming and Caution :

/N WARNING

Warning notices are used to emphasize that improper operation may cause severe
personal injury or death,

/\\' CAUTION

Caution notices are used where inattention might cause personal injury or damage to
equipment.

/N WARNING

+Read the specifications described on this sheet to make sure that the operating
conditions are correct.

+Do not disassemble, repair, or modify the LFSZ adjustable support, otherwise severe
accidents may result.

1Make sure that the illumination unit does not fall during transportation, installation, and
operation, otherwise damage may result.

/\ CAUTION

+Do not apply an excessive force to the LF9Z adjustable support.
Do not leave a damaged LF9Z adjustable support unattended or use a damaged LF9Z.
*Do not use or store the LF9Z adjustable support in a place subjected to vibrations and
shocks, otherwise damage may result.

Type

Type No LF8Z-1B1 LF9Z-1MA1 LFQ%-1 MAD1
Applicable LED LF1B-*08-20 LF1A-*1-200 LF1A-D2F-2THWWS
Nllumination Unit *: except D

Supplied Parts |
Type No. LF9Z-1MB1 LF9Z-1MA1 LF9Z-1MAD1
Q‘:jt‘:tg;'e SUPPOR| 4 air (right and lef) | 1 pair (ight andlef) | 1 pair (right and left)
a‘g:ﬁ;lgesi:‘:xm M4 sems screw x 10: 4 | M4 sems screw x 10: 4 | M5 sems screw x 10: 4
:\I;m;r::;:t;og;:x M4 sems screw x 8: 2 | M4 sems screw x 6: 4 | M5 sems screw x 8: 4
ngelijdjustment M3 cap sems x 6: 2 M4 cap sems x 8: 2 M4 cap sems x 8: 2

BN Specifications

LF9Z-IMB1 | LF9Z-IMA1 | LF9Z-1MAD1
0° to 90° (in 10° increments)
Vibration Resistance (damage limits) 5 to 55 Hz, amplitude 0.5 mm, 20 m/s’
Shock Resistance (damage limits) 980 m/s?
Weight (approx.) 60g | 110g |
Note: Operating conditions are the same as the LED illumination units.

Type No.
Adjustable Angle

220g

X instaliation ]

Install an LED illumination unit onto an applicable LF9Z adjustable support in the following

order.

1. Install the LF9Z adjustable support onto the panel using the adjustable support mount-
ing screws.

2. Install the LED illumination unit onto the LF9Z adjustable support by tightening illumina-
tion unit mounting screws to the torque shown below.

3, Set a required angle and lock the LED illumination unit by tightening the angle adjust-
ment screws to the torque shown below.

Screw Tightening Tbrque (N-m)

Type No, LF9Z-1MB1 | LF9Z-1MA1 | LF8Z-1MAD1
Adjustable Support Mounting Screw 1.3t01.7 1.3t01.7 26103.6
llumination Unit Mounting Screw 1.0t01.3 1.3t01.7 2.6103.6
Angle Adjustment Screw 0.6t01.0 1.8t02.2 1.8t02.2
LF9Z-1MB1
\ ttumination Unit
Mounting Screw ___
(M4 sems screw x 8)
LF9Z-1MA1

Mounting Screw
(M4 sems screw x 6)

Angle Adjustment Screw é

(M3 cap sems screw X 6)

Adjustable Support
Mounting Screw
sems screw x 10)

ﬁ 26)
Angle Adjustment Screw
N (M4 cap sems screw x 8)
Adjustable Support Mounting Screw

(M4 sems screw x 10)

LF9Z-1MAD1

Angle Adjustment Screw’
(M4 cap sems screw x 8)

m Adjustable Suppart Mounting Screw
(M5 sems screw x 10)

ﬂ Dimensions

LF9Z2-1MB1

1

| 4 - — i
ugi | ‘?ii] o Angle Adjustable Range
1 ~ 2
—
]
3 ! —
ir-¢ :
!E\l;\({ I : Dimensions in mm
3 Dimension | LF1B-A | LF1B-B LF1B-C
A 145_ prabl 2 It
ii [ &
B8 12305 | 19955 | 3193

LF9Z-1MA1

8 g =k
! e £
[ LA
A
Y AngAdsiaeRange
&
B
iLi i — Dimensions in fm
‘ﬁ% Bimension | LF1A-A | LFIAB | LF1A-D
A 126 1863 306"
¥ S e
B 1085 | 16805 | 288tba
LF92-1MAD1
®le ® [® w@
(O
CREF!
|
8le e |® _!_!
B4 ]
= = i Angle Adjustable Range
= = g
1Pl g

g[
!

X
y"

IDEC CORPORATION

http:/Awww.idec.com

2009.11



B-1125(1)

DEC

By 4% &% BA &
LF 9 ZRAEHTSR

T O IDECRRESBN LIFWVEEE. HOHESTENKT, SEXDORRBICAHEL
PENHTRROS X CORRGBEONBEL BHEBNELE ELITEBLE
S, 2 CORRBRBPERF D —FRICTRIICREIZS,

EEXRT |

REURHBB Tl B o EIMDRNVE LIEBSICE LB T LN FRIEN S BIROESNE
M4 DER) SUTRBILTHWET. ZNZNOBRIEUTORDTT.

/N a2
VAN ]
URLVES S BB ALTE S eI EEES STMENIBHDET.
/N EE

RIRNER S EIBS AL EEE & SNBSS RET DTEMEISHDET.

@ EERHY. ARROHBRBICEHONSEBEOEN T EENTHA TTIERIZS
W

@ BEHTODMR. B, WERBWITHOHILESI.

© BITORBOAZTRIBH COMTFF. RIBOBFSCE+IFERUIT>TIES,

@ RERICHDEMZENTESL, EEBRBULRETHS, BRALBNTIEZ,
© 58 - BEROSBHTOEE®, REFLENTESL. BRORBICAEDET,

N »= 1
% B LFOZ-1VB1 LFOZ-1MA1 LFOZ-1MAD1
mtmieia|  LF1B-%0S-20 | LF1A-%1-20 |LF1A-D2F-2THWWE
XED- - -DERL
2 B |
mE LFSZ-1MB1 LF9Z-1MA1 LF9Z-1MAD1
BERNER 55 &1 55818 55 &1
SERERY | BA+HFEAR BA+FELR BR+FELR
M4x10 : 4% M4X10 : 4% M5X10 : 47
WRIERY | BA+FEALR BRHFEELR BN+HFEAZR
M4 X8 : 2% M4AX6 : 44 M5X8 : 474
BEBBRY | FrvIEAR FryIBLZ FruIEAR
M3X6 : 2% M4 X8 : 2% MAXS : 27K
B i - 1
wE LFoZ-1MB1 | LF9Z-1MA1__ | LF9Z-1MAD1
BEBNHE 0~90° (10° %% TOBED)
T iREN(WR) 5~55Hz, KiFIE 0.5mm, 20m/s*
g R 980m/s>
HE ) 60s [ 110g [ 220g

XEEFREEIGLEDIRBI — v FICELET,

A BEricELT

TEICRT L IICO~OOFIEIC CRERHER. LEDREL "y FERIITITTEL.
DS SNEAROUERE CERBRESB LT, +OWAIEECLTIZE,
ORERESSFMINSMICRRMTRIICTHLITTIES.
©LEDRBIL "y FEAEBENSRICRIRNRIIC T TRE THYITTIESL,
GBERLELAET, AEBHRIZEMTRETHIITIES.

2. T—TILO3IBUITERL. BRULTIEE,

B I N-m
BE | LFOZ-1MB1 LF9Z-1MA1 LFO9Z-1MAD1
SRIUIRY 1.3~17 1.3~17 26~36
BIREUIRY 10~13 1.3~17 26~36
BERERY 06~10 1.8~22 1.8~22
O LFOZ-1MB1 %\
\ERRERY
(BA+FEAZAMAXE)
0 LFOZ-1MA1

S \RBIRFRY
N+FELAMAXE)

BEEDRY

FvyJELAN3X6)
SEMIRY
BEA+EEAIMAX10)

)
BESBHRY ;

@R\\ SEMGRY FryTRAAMAXB)

(BEAFPELZMAXA0)

RIRIR2S

FryIRAAMAXE)

H »ne=

LFOZ-1MB1
=

|
i@

[

P 5

% |ga LF1BC
A 145 221 344

41 : mm

LF1B-A | LF1B-B

r15:|0|
f_._
-_1 |- o

B | 123205]199:05] 319+08

LFOZ-1MA1

A ]
[ 1 BRRCEAE
(¢ w0
=
5 210 : mm
= [ : e
.»er N 7 IR2C | LF1A-A| LF1AB | LF1A-D
\Qr A | 126 | 186 | 208
8 108405 | 168=05| 288108

LFOZ-1MAD1
®e ® |[®
&/l o |® i
2574 {
@ !‘ = =i ] EEEEaD
i 2% X

7
B

| D EC ﬁﬁ%*i hitp://wwwi.idec.com/japan/

A 3 F530-8550 KIRHERIIKBESRE 1-7-31 TEL :06-6398-2500

BUREHIEE CORBBANHENELES, FROFIZATR=FA
BHNEDETS.

HBNLSHEERE !

9:00~12:00/13:00~17:00 (% - BIEB. REBIUTEHKBER
[FOZHIYR=F]

W E:03-5782-7692 A = :048-645-3671 BBE :052-732-2712
X BR:06-6308-3070 [ B :082-242-7110 18 F@ :002-474-6331

2009.11



